
Models : All
Page 1 of 7

Date : 04/04/2018

Qty Qty Description

A 8 H 8 M6 Hex nuts

B 16 I 4 M10 Hex nuts

C 8 J 4 M10x30x2.5 Flat washers

D 8 K 4 M10 Spring washers

E 8 L 2 Front brackets (PS and DS)

F 16 M 2 Rear brackets (PS and DS)

G 8 N 4 T-bolts

1 1

1

1

1

1

Precautions during fitment:

M8x25 Set Screws

Kit content:

60 

Minutes

Product Nissan NP200 Side Bars 

Part no. 170018T, BS-170018      TN: 105

DIAGRAM

Read through the fitting instructions before starting fitment.

Additional equipment/Material needed for fitment :
Ratchet and spanner set

Measuring tape

Description

Ensure you have an adequate working space. Requires two people for fitment. Ensure that the

correct tools are used with installation

Directions for use:

M6 Spring washers

M8x22x1.6 Flat washers

M8 Spring washers

M8 hex nuts

M6x25 Sets

M6x16x1.6 Flat washers

Drill and 6.5mm Drill bit

Centre punch and hammer

Tectyle

Marker

ACCESSORY FITMENT 
INSTRUCTION 



Page 2 of 7

Step #

FIG 1 shows a basic view of how the brackets mount to 

the vehicle. Drivers side is shown but do all steps to 

passengers side as well.

Step 1
Measure the positions for the brackets on the sill of the 

side of the vehicle. This measurements is taken from 

the corner of the wheel arch. Shown in FIG 2.

Description/MethodVisual / Graphic Illustration

Fitment Instruction: 
Nissan NP200 Side Bars  

FIG 1 

FIG 2 



Page 3 of 7

Step #Visual / Graphic Illustration Description/Method

Step 2
From these measurements you will see plastic covers 

that need to be removed from the under side of the 

vehicle for the front and rear brackets. FIG 3.

Step 3 Insert the T-bolts into these holes. FIG 4.

Fitment Instruction: 
Nissan NP200 Side Bars  

FRONT OF VEHICLE FIG 3 

FIG 4 



Page 4 of 7

Step #Visual / Graphic Illustration Description/Method

Step 4
Mount the brackets to the t-bolts. Make sure the 

brackets are straight and that the front hole of the 

bracket lines up with the line that was measured. FIG 5. 

Step 5

With the brackets aligned correctly. You will need to 

mark the centre of the holes, centre punch and drill 

6.5mm. FIG 6. Do to the front and back. Apply tectyle 

to drilled holes.

NOTE - Front 

brackets
The Drivers side front brackets have a DF cut out in 

them, passengers side has a PF cut out.

NOTE - Rear 

brackets
The Drivers side rear brackets have a DB cut out in 

them, passengers side has a PB cut out.

Fitment Instruction: 
Nissan NP200 Side Bars  

FIG 5 

1277mm 

As a double check. Measure from the front of the 
front bracket to the front of the rear bracket. This 
measurement must be 1277mm. Adjust brackets 
to get this measurement. 

FIG 6 

Lines measured a marked from step 1. Lines 
to be in the centre of the front hole slot. 



Page 5 of 7

Step #Visual / Graphic Illustration Description/Method

Step 6
Mount brackets to the vehicle. Use the kit shown in FIG 

7.

Fitment Instruction: 
Nissan NP200 Side Bars  

FIG 6 

Front bracket 

Rear bracket 

J 

K 

I 

J 

I 

K 
E 

F 
F H 

G 

G 

F 

F 

E 

H 

N 

N 

L 

L 



Page 6 of 7

Step #Visual / Graphic Illustration Description/Method

Step 7
Mount the side step to the brackets using the kit 

shown in fig 8.

Fitment Instruction: 
Nissan NP200 Side Bars  

A 

B C 
D B 



Final step
Page 7 of 7

Make sure bar is centralised and tighten all fasteners to specified torque. M8= 

22Nm , M10= 42Nm , M6= 9Nm.


